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REFE i, ug, ug FIEE vy, vy, vy ITFHIERE, Rl w = (1,2,3)" 7€ vy, vo, vy FHIAESE.
LWV = Fla] @), Hopr F o —AN

(i) WM {Lz,z(z—1),...,z(x — 1) (x—d+1)} & V I—HE

(i) HEAERE P, fif3 X

(L, z(x—1),...,2(x—1)---(x—d+1)) = (1L,z,...,2Y)P

KA BT
{Lz,z(x —=1),...,2(x —1)--- (x —d+ 1)}

N HIFERE.
(iv) 3K dim(ker(A)) A dim(im(A)).



4. & m, -, m € Hom(V, V) &2
(a) Vie {1,2,...,k}, n2 =,
(b) Vi,j € {1,2,...,k},i # j, mm; = O.
(c) T+ +m=E.
Hrp O M € 7R Hom(V, V) FH AN V2 V[ 22 Bl AE [R] BRSRT. GIE B
(i)

V =im(m) & --- ®im(m).

(ii) B pi: V — V &XTF LIREFMMN V B im (7)) B2, W py = 7,0 = 1,2, ...

[ e BRI (a), (b), (¢) I my, .. mp FRONSE A IEAZ S 5 4]
5. (EM)BE V 2K F ER n gE 72800, Vi, Vi & VBT GER: iR
dim(Vy) + - - + dim(V) > n(k — 1),

M ViA---NV; # {0}



